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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) whemefl gdyem 3199 T9-U3 T AT Afemid: ford |

Candidates must write first his / her Roll No. on the question paper compulsorily.

(2) I HH A F |

All the questions are compulsory.
(3) T T T ST &I T8 I -feht H & ford |

Write the answer to each question in the given answer-book only.
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(4) T w1 W T @Ue €, 39 @t o I U Wi B ford |

10th Maths

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) -9 % el 9 S T # foref wehr <t Ffe / 31an/feienyma g W fa=t v %

T 1 & el 7 |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

6) WAt W g 3 WP TH

3HA 1-10 1

9 11-15 2

9 16 -25 3

[ 26 - 30 6

Part Question Nos. Marks per Question
A 1-10 1
B 11-15 2
C 16 —25 3
D 26 —-30 6

(7) I3 ShHTR 27 9 29 | AT forehed B |

There are internal choices in Q. No. 27 and 29.

(8) I ITR-GRETHT 6 YBI o gl AR fafay | Afe 15 1% FHr F0 2, q IH-GRETH 6

3ifem g8i T 3TN 3= Foiedt i @ e AR W HE @ € |

Write on both sides of the pages of your answer-book. If any rough work is to be

done, do it on last pages of the answer-book and cross with slant lines and write

‘Rough Work’ on them.
(9) ¥ SHHTH 26 HT G UT% YO U ST |

Draw the graph of Question No. 26 on graph paper.
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M—-A
Part— A

1. e B S A U 31 x 315 ok 7 |

1

5
Find the value of 31 6% 3 lg by using Ekaadhiken Purven Sutra.

&R 1 1 1 1
2. & :x—3+x—7=x—l+x—9

SN B B S
OV y 37 x—7 x—1"x-9

3. 196 % 1T TUMEUE] <l HTdT 1 AMTHS fARIT |

Write the sum of powers of prime factors of 196.

4.  cos 50°- cosec 40° T HH %ﬁ\@ﬁ |

Write the value of cos 50° - cosec 40°.

5. If¢ U FHEATR B hl TS qT 3Eh! BT hl TS BT I 1 2 /3 &, A g

3T 10T F1d I |

If the ratio of the length of a vertical bar to its shadow is 1 : \/5, then find the

elevation angle of the sun.

S-09-Mathematics [ Turn over


http://www.rbseonline.com

RBSE 2018 Solved Paper (Solution Attached) 10th Maths

4
6. < fedm fomgatt & aw qre fargati o fargmy fotfiaw |

Write the locus of the points equidistant from the two given points.

7. I H %5 8 qaH gt ot feud Sftensti st stqard fafay |

Find the ratio between the chords which are equidistant from the centre of a circle.

8. Teh UTH o Ush I thehd T faud 376 311 <hl TiRRehdt F1a shifviw |

A dice is thrown once. Find the probability of getting an odd number.

9. fordll T | 2ot <h1 fortr g fepe et w1 2 5 3 Ik Se H T 3 7 | Ife aa hl T8
Sl x Teprfl SR fortram 2 y &1, A 58 SHiehio] €9 1 =56 HINT |

In a city, the fare of a taxi for first kilometre is ¥ 5 and after that it is I 3. If distance

covered is x km and fare is ¥ y, then express it in the form of equation.

10. =l T @ % IUR | 20 e gL foud wiewm o U foarg @ @wi 6 =1dl W o 3

HI T I HIUT 60° B I TFY shl H=Ts FTd HIfT |

If the elevation angle of a camera situated at the top of a pole from a point 20 metre

away from the base of the pole is 60°, find the height of the pole.
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M-
Part—-B

11. g am fafr @ 6889 =1 o ge1 Fra hifT |

Find the square root of 6889 by using Dwandwa Yoga Method.

12. 9f¢ & TS H PABA 525 7 3R 3T Hgq9 qUIIGdh 5 7, d1 b g
T A HITT |

If the product of two numbers is 525 and their H.C.F. is 5, then find their L.C.M.

13. T o4 1 FOY01 TSI &t 216 o7 HieT B | T T I 1 HIfT |

The total surface area of a cube is 216 square metre. Find the side of the cube.

14. T 375 Tt <l orsem 7 9.1, 2, 3eh1 970l I8 &1l 31Td hifT |

The radius of a semi-sphere is 7 cm, find the total surface area of it.

15. Ueh 24 HieX S Iidd W AT =01 & fiw CCTV Sha o 72 g difes I8 91 <6
MY & 25 et T 3fE Y@ % A7 ff AT oW TRt @ | O o =9 AR ISR a9
T &THA HTd hHITTT |

A CCTV camera is placed on the top of a 24 m high pole in such a way that traffic
can be seen beyond 25 metre of line of sight of it. Find the area of the Green patch

around the pole.
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16. Tovrem wermifeem ugfa gR1 9gue P(x) = x% —3x2 + 4x — 3l g(x) =x2 + 1 —x & W

T T 9TTHS Ud ATHS T4 hiToTy |

By using division algorithm method find quotient and remainder when polynomial

P(x) = x* — 3x% + 4x — 3 is divided by g(x) =x% + 1 —x.

17. 3t Foret THT=R &€t o1 QO a a0 UG shFRl: 3 311 S &, @ 3 JUW 20 TGl 1 ATHA
31T hITT |

If second and third terms of an Arithmetic Progression are 3 and 5 respectively, then

find the sum of first 20 terms of it.

18. Tsh HIMN o ATUR | 9 it 7 25 WX gt W U & @1 W fed g1 famgati © q@ W

HHR o TG & I~ 101 TER I & | R i 918 F1d it |

The angles of elevation of the top of a tower from two points at a distance of 9 m
and 25 m from the base of the tower in the same straight line are complementary.

Find the height of the tower.
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19. < T8 3TeRfd # Af¢ OP - OQ = OR - OS Tl §¥ET LOPS = ZORQ T ZOQR = LOSP.

In the given figure if OP - OQ = OR - OS, then show that ZOPS = ZORQ and
Z0QR = ZOSP.

20. TH YA ABC § ATfERIE AD, BE 31R CF & fomg G @ TSRl & | af¢ AD = 9 &,
GE = 4.2 9} 3R GC = 6 A1, a1 AG, BE 3R FG ! o1 o A J1d shifolT |

In a triangle ABC, the medians AD, BE and CF pass through the point G. If AD =9 cm,
GE =4.2 cm and GC = 6 cm, then find the values of the lengths of AG, BE and FG.

21. € TS TR | FHS HIVH I x, y 3 2 | Fafed fomem w2 | 57 1M <6 7 710 Hife |

In the given figure some angles are represented by x, y and z. Find the values of

these angles.

Fan N

NO> x el

22. U 4 Gl Forsa o o1 W TR g P & & SRi-{@13A1 PA d1 PB %1 W1 i | &
PA T PB % He 10T 65° 7 |

Draw two tangents PA and PB from an external point P, to a circle of radius 4 cm,

where angle between PA and PB is 65°.
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23. U JARRR Uk hl Forswm 4.2 Hiew 2 | Uk o IR AR 1.4 Hiet <eT TE1 S g # |

& ohl Thd aﬁﬁﬁm |

The radius of a circular park is 4.2 m. A path of 1.4 m width is made around the

circular park. Find the area of the path.

24, Teh Yol <hl TS 2.5 Hiet 3T =ad 1.4 Hiet 2 | 10 I8 FTH H TR Tohd T &9 99do
HUT 7

The length and diameter of a roller are 2.5 m and 1.4 m respectively. How much

area will be planned by roller in 10 revolutions ?

25. Teh 91 H Ueh UWhe e, &1 hicdl e FR i oTed Tie Teh &1 SThR hl 8 | 36 Of | 8 Th

g ATgeAT THehTelt STt @ | STfIehdT S1Td Shif :

(i) Tig g &l

(ii) TG It &

(iif) 77g et &

In a bag one white ball, two black balls and three red balls of same size are placed.

A ball is drawn at random from this bag. Find the probability :
(1) Dball is white
(i) ball is not black

(ii1) ball is red
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Part—D
26. 1 tRaes wefiertor gm 1 e Tt gro ge iR
2x+y=62x—y=2
3d: Heh! TER 8 HY 6x + Ty = p H p T HH 1 HIT |

Solve the following pair of linear equations by graphical method :
2x+y=6,2x—-y=2
Thus find the value of p in the relation 6x + 7y = p.

27. fag ST :
, [1+cosB
(1) l_cose—coseCG-i-cotG
. tan O cotO
(11) 1—cot9+l—tan6_1+tane+00te
Prove that :
, l1+cosO
(1) 1_Cose—cosece+cot9
. tan 0 cot
(ii) l—cot6+1—tan6_1+tane+00te
HAYF/OR
(1) EIﬁsinﬁ-i-cos6=pE'vﬁ'{sec(9-i-cosec9:q%af?'ﬁﬁ:@ﬁ'&l’@%q(pz—1)=2p.
(ii) fog hifo -

cos A N sinA
l-tanA 1-cotA

sin A +cos A

(i) Ifsin O+ cos O = p and sec O + cosec 0 = q, then prove that q(p? — 1) = 2p.
(ii)) Prove that :

cos A sin A .
—tanA  1—cotA Sin A +cos A
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28. (i) 3fG T (x, 3) 3R (5, 7) o == Al gt 5 &, T x 1 A FC HIT |

(i) ST HIT @ 3x + y = 9 fogaTi (1, 3) 3R (2, 7) i AW aTet 1@ @ i fohl
Frgara # ferrfora e 2 |

(1) If distance between points (x, 3) and (5, 7) is 5, then find the value of x.

(i) Find the ratio in which the line 3x + y = 9 divides the line segment joining the

points (1, 3) and (2, 7).

29. ABC U GHIU BT & & /B THhIV 2 | YT AB W D 71 ¥ BC W o5 E

fera 2 | fag hifse : AE2 + CD2 = AC2 + DE2.

ABC is a right angled triangle whose £B is right angle. If points D and E are situated

on the sides AB and BC respectively, then prove that AE% + CD? = AC2 + DEZ.

JAYFT/OR

e Tk TehT TGHS ol &1 YSTU TR &1, a1 g hIC o AT YST¢ SO BRf 31
ferepof oft s 2 |

If two sides of a cyclic quadrilateral are parallel, then prove that other sides are

equal and its diagonals are also equal to each other.

S-09-Mathematics


http://www.rbseonline.com

RBSE 2018 Solved Paper (Solution Attached)

11

30. T IRERAT 524 A1 9 §geTh A hIT :

*

ATH

20-30

30-40

40 -50

50 - 60

60 —-70

B 6 S

28

42

20

Find the mean and mode of the following frequency distribution :

Score

20-30

30-40

40 - 50

50-60

60 —-70

Number of Students

28

42

20
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RTSTRYTE I8 RIS H9T-u= (81 Afgd)
areafies ysterr, 2018

(7: 3V, ©9)
el & fore = fAder-
1. 9t 99T o erfvanf 2
2.
YR
3
g
g
T
3. U PHIP 27 9 29 H IdR® by gl
4. U7 HHIB 26 B AGIRAT h TR R §1T

Tford

T HET
1-10
11-15
16-25
26-30

(qurfep : 80)

3h TAD T

D W N

Q.2:

Q.3:

(i) Prram d+2=1
(ii) 9 fRaery 3id T = 31.

TF Tl gay faftr gri,
m%x3rgzpnx(m+4ﬂ4%x%]
=31 x 32]/[5%]
aao 5
= 992
P 11 1
& 73Vt z—7Tz—1T7-9

Bl :
TRIT PR PIAT =2—3+2—7=2z—10

R U SR B AT =g—1+2-9 =22 10
SHT ge T B W, PR

2x—10 =0
= 2¢ =10
T :%:5

196 & WY OFEUS] Bl GTdl BT INhel faRad
Bl :

HIT-31
© I TPIIDT G BT FANT R g 31%><31%Eb‘rm?§nﬁ
I
el
b -

EISISIS

196

196 & 3T JOFEUS = 2 X 2 X 7 X 7
=22x T

31c: 196 & ITHSY UHREUE] &Y OTal T AN =242 =4

Q4:

B8l :

cos50° + cosec40° BT A foRad|

cos50° - cosec40° = cos(90° —40°) - cosec40°®

[cos(90° — 0) = sin0]

1
sinf

= sin40° * cosec40° [cosech =

1

= sin40° X M

=1

el @ fodeT 2 6 fgr o€ 10th Fo

& HlSel UIR UTH HRA P 17 9460377092
I AUT FIRT &b GICATT U H T8 | Ufe

HTE U Hisel AT 3TUh FelRd 4 H ol

ST |
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Q.5:

Q.6:

Q.7:

Q.8:

IfE T HEAltR B DI TS TAT SHD! BRIT HY AT BT
3FUTT 1:+/3 &, A1 G BT I~I B0 S BRI
gl

I B Pl TS, BC =y 18
TAT BT BT T, AB =3y 3@
FHPT A ABC H,
C
Yy
0
A \/gy B
Tgl, 0 = T FT IR BT
_ BC
tan 6 =5
tang =4 — 1
V3y V3
= tan 30°
0 =30°

%:WWWW::&O"
QoA T frgatt & T gxver frgeit a1 fmguer forRag

Bl :
A g Q Rrgall & gz et Rimg ot fmguer I et
Tl IGRIUS DT AT AHGYTSTD BT Bl

g | g | FHE X IR R Sfiaratl @ s fRked |
B

& S & & it ga I gl pg A RER Q@ R @ ara
URIOR GRTER BIi 81 37T Sfareii o7 egurd 1:1 gnml

T IY & T IR theb TR A9 37h 31 &t UrlRiepdr sitd
BT

gl :
S =1{1,2,3,4,5,6}
n(S) =6
(B) ={1,3,5}
n(E) =3
3t arie TR, P(E):%:%:%
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Science

freft TR o St ot fawTaT uge fharfier @1 T 5 SR 99D
Wﬁ?3%laﬁﬂu3ﬁ@§ﬁxf—zﬁﬁ3ﬁ?m?y@,
59 R ©T § ad iR

Bl :

& g,

Tgol fhaiier &1 fommar =2 5
3T foheti ey ot foRmr =% 3

T, RIEARIEARIEE R
3R Pt fREm =2 y
TATIER,
P fRmT = dgel fpairieR @1 fahRmn
+ 3Tt T foretrier @t fammn
3 y =5x1+3(z—1)
y =5+3z—3
0=2+3z—y
3z—y+2 =0

I U @H b MUR A 20 Her X (RIT wich™ & U
g & @ & AN W o @ SR BT ST P07 60° 2 Al
T B SHdTs S DRI

el

HHT h TS BT @1 (BC) RAAR R g1 @ | 20
e 1 g R T farg A R 2l

C
b TeR
60°
A
20#/ex ——— B
FHAIT A ABC H,
‘ _ @ _ BC
& 9 E, tane_i_AB
o _ BC
tan 60 =15
= V3 =L

—20
h =20v/3 =20 x 1.732
= 36.64 T
31T GFY Bl TS 36.64 HieR Rt
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Q.11:

Q.14:

HIT-9

& am faftr | 6889 &1 g F1a HIfl
&1 ;g5 A fafy g,
68| 89
16| |4
8 |3
-
(1) uYH et 3ich = 8 AT WSTh 8 X 2 = 16
(ii) QI9heT = 68 — 8% = 4 TH IR WIS # 8 | Ugel
A foraat €1
(iil) T AT = 48 FAUT 9T = 48
3: 48 =+ 16 = 3, T 1 foraT 8 & M TUT AYH
0 forar 4 31 3w doT 8 | 9 & LAl
(iv) =1 95T = 09 TAT AfH AThe = 09 — 3° =0

31q: v 6889 =83
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: IfS Q1 FRATAT BT UGS 525 7 AR IThT Hgad AT

5 g, dl 39T gad FHuacd Sid Il
el :
fa g, qr AXT3T BT OB = 525

3Dl HaTH HIEGD = 5

M - A X A8 = 3 IS BT U

QT3] T UM

Ja:  orgeH wEga (LCM) =

7.3.9. (HCF)
=52 — 105

: Gp g 1 Irquf ISR &thel 216 aif HieR g1 B Y e
BISEAISM

T

fear g,

G T QU] S &hel, A = 216 @ HieR

G T Yol = ?

o & Tl IS 8Fhel, A = 6 x (oT)?2

= 216 =6 x (Yoi)?

ar (o) =210 = 356

I = /36 = 6 Hie”
3 g Y Yol = 6 HeR
T 31 Mt 1 Boar 7 Jfh. B, 39T ol oS3 &l

ST IR

el :

far g,  or€ Mo i Bream, r =7 [
31 et 1 Ul ISR &t = 3

nﬁ?@ﬁq?:?)x%lx?x?

= 462 if 3.

Page 3

Q.15: Uh 24 Hiex $d Ui R ITARITT 8701 & forw CCTV daRT

SR 9T & 1fep a8 it b offif 4 25 #fier R gfee a1 &
3 Y IR S HhdT gl Ui &b IRI SR AT g BT
&hal ST HIfTT |

&

fear g, qet B ST, AB = 24 Hex

oI & oY | PR B gfse Bl s, AC = 25 HicR

|

24 Hiex
LQ

G

N

B C

ATSATIRY T 3,

()2 = (a2 + (3MYUR)?

AC? = AB*+ BC?
= BC? = AC*— AB?
= BC =V AC— AR
= BC =,/(25)*— (24)”

= V625 — 576 =+/49

= BC =7 HIx

31T: UIe & UTG | 7 HIeR Bl g & AR BT AR @Ts
2|

37T: 3T g i B, R =17 e
Uit & IRI SR 3SR g BT &AFAHA
=R =22 x 7 x 7 =154 & R

7

wt oot | e € for Renffat @ Y Afset 9R (PDF)
U IRATY| TR0 Hisel UR & fawg 7 foenfRia ot gamd
dTfes oRten # et Surer 3 SATeT oih A1 || ool A
e € f5 9460377092 W Ryth 30T fawg SMS @ | &4
M HUS PR fIAT HY A ATser UuR Aol |
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Q.16:

Q.17

HIT-9

TSI TR Ugfel GRT 9898 P(7) = 2! — 32° + 42— 3
B g(z) = 22+ 1 — z A 9N S R 9RTHA T4 AYHe 1T
BT
T [9gUG P AP BU H fora R,
P(z) =2'— 02" — 32"+ 42— 3
g(x) =7 —2+1
r4+2-3
1’2—I+1)I4 +02* 37 4o 3~
-2+

7+ —
2 — 422+ Az

xs—x2+x

_+ —
-3+ 3r—3

—327+3z—3

+ -+
0

Y%hel = 2+ 2 — 3
ATHA = 0

ZIET HINIh X HII%hel + Y]

=(@—z+1) X (+2-3) 40
=+ -37 -2 - 32 ¥ & -3

=2'—374+42—-3 = YT
3rc: faYrT YemiRen gearfid giar gl

: I fohelt |reR Aot T IR @ TfRART g SEe: 3 3R 5§,

al 3P UYH 20 UGl BT AR ST DI
gl :
fear g,
TR A0 BT /I UG, ap = 3
AR A0 BT AT UG, a3 =5
e a, =a+(n—1)d
a =a+d
a3 = a+ 2d
31 YR, 3=a+d (1)
5=a+2d .(2)

FeiaRor (2) § | FHER (1) B geM W,
5—3 =a+2d—a—d

= 2=d
d @1 99 FHER (1) F [/ R
3=a+2
a =1
B ST 8- S, =52a+(n—-1)d
S =22 x1+(20-1) x 2
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Science

=10(2+19 x 2)
=10(2+38) =10 x 40 = 400
ara: arfise ITher 400 Bl

U HIMR &P MUR A 9 Hiex oI 25 Hex g R Tb & vl
R T QI fgatl A g R HHR & RRaR & S~ Iy
RER T ¢| HHR & a8 ed HIR|

Bl :
THT HFR (AB) & S8 h g1 HHR & SMUR A 9 Her g
R g ¢ & e 256 AR QP R g D 2
A
h Wrex
0 90 -6
D C-—9tex — B
25 HIex
e ZADB =0
ar ZACB =90° -0
' _AB _ h
FIBIT A ABD H, tanf = 7o = ot (1)
9: FHDIU A ABC H,
° _AB
tan (90 —9)—BC
- _h
cot0—§ .(2)
TR (1) T FHIRO (2) BT O PRA W,
_h o h
tané X cotf = o5 X 9
1 _h _h .. 1
tan® x tand — 25 X 9 . 00’56—7tane
_ K
a 1 =195
= R =225
a1 h =+225 =15 "Hiex

d:  HHR B SEg = 15 Hiex

Tt e & e g 5 el @ i Jfset IR (PDF)
IYASY FRAV | W0 Hisel UR & sy & iy & san
anfes qenm 7 femeff Sare1 | SATQT 37 ol || oo |
e 8 f6 9460377092 R R 39T fasg SMS ax | &9
I FUF PR I HU F Al IR FoiT |

& g el § I OP - 0Q = OR - 08§ @ gaIfgy
Z/0OPS= 20RQd 20OQR= 2 OSP.
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Q.20 :

R
P
[0)
S
Q
Bl :
e g,
APOS @ AQOR ¥ OP- OQ= OR -+ OS
. OP _ OR
ara: 05 =00 (1)
qem ZP0OS = £R0OQ (fwiftpg aron)  ..(2)
FHteRor (1) T (2) 9,
APOS = AROQ (SAS wwudl Fter)
IR 4P =/R
T 28 = £Q (oY sl & T PHior)
3rd: Z OPS = Z ORQ
g Z 0QR = £ OSP g

% B3YST ABC & wifeg@ AD, BE 3R CF & g G
J o §1 G AD = 93+, GE=4.2 3. 3R GC=6
., @ AG,BE 3R FG & oa1gal & 99 o1d $HIfg)
Bl :

B S & 6 b ¢ gt Y mnfedest @t 2:1 & ST
7 farford a=ar

3d: &Z

2

1

GD 1

a 2
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Page 5

BG _ 2
&l R, or =1
T Tell H 1 Sed WR,
BG . _2
G7E+1*1+1
BG+GE _2+1
GE — 1
BE _ 3
GE 1
BE =3GE =3 x 4.2 = 12.6 9.
FG _1
R GC ~ 2
FG:%GC:%m:géﬁ’r.
: & S MBRT H P I B 1,y IR 2 W FAfRT fFam w2
9 DI b JH ST DI
/910 Z\
\65” T y/
g

ﬁaﬁﬁaﬁ ABEF @41 BCDE U Wh1 g4 2
T ST £ b I IgyS & afLShIoT IAD SARIIIE DT
& IR B §1 3 BROT A

ZBAF = ZBED =65°

A, ZE+ 2£C =180°
F E D
/910 Z\
[ ) [ ]
\650 T y/
A B C

" BEDC & I g4t | S S —Ar & vl &1
2T 180° & 2

= 65° +y = 180°
R y =180° —65° = 115°
3l TR,

Z AFE = 2 CBE
= 91° =z
x =91°
AT E, a4 2 = 180° WA TTHSA B PR
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Q22: U 4 JH. BT & g1 R 9@ e P ¥ &1 el-Xarsi PA

z =180° — x IR BT AFABel = IR AfRd JATBR U Pl &l
z =180° —91° =89° — IR AT U BT AFARA

=qrs —7rf =7(rs — 1) =7(n—n)(n+n)

AT PB & X1 HIRTT STEf PA QT PB & 58T B0 65° =7m(56—-4.2)(56+4.2) =7 X 1.4 X 9.8
gl =22 14 % 98
o it Hiex
e J APB — 65° =22 % 0.2 X 9.8 = 43.12
ZA=/B=90° Q.24 : U AR B w18 2.5 Hex iR = 1.4 Hiex 81 10 TFax
3T TGHST AOBP 1 FiT iy, ST H AR T &3 FHe P2
2 AOB =360 — (65° + 90 + 90) &l :
:360—245021150 %ZITITEIT%— Wiﬁm:25tﬁ€?
arerfq Sflar 0A @ OB & Heg oy, arerfq AR & S8, h = 2.5 "X
ZAOB =115° AeR BT &N, d = 1.4 Hex
-
_ 2r =1.4 IR v d=2
(i) 4 3. BT &1 ga 7T @ B 0A 9 OB & 72 _ " ( )
115° T P01 FTRIT IR BT T TR H &Fthel = IR Bl Igh YSIT &=the]
(ii) OATOB & Ad B RS HA: AP g BP &R = 27rh
S G-I Bl P R fHerd 2
= 2 h
/ APB % 519 W £ APB = 65° HTH gl §1 4 7;2><(r)><
TpR arfise ¥aef Ra1aft &t T BT Bl == X 14X 25
=22x0.2x25
o= =11 3 Hi”

B

Fd: 10 TFPR M H &5l = 11 X 10 = 110 @f Hiex
wear o

&
5 a@ y Q25: W del § T WG 1ig, A Prett g 3R N et g T &
P m
N

AMMHR Hi Bl 39 Jot § | & i Argesdn el St 2

P ST ST BT -
(i) g ahs &
A A (i) g Pl 7 &
' ) (iii) g et &l
(i) (ii) .
fam 2, gt o whg g = 1
Q.23: U5 JeR Tk Y o 4.2 Hfiex 31 01 & IR @R 1.4 et & reft g = 2
e FieT T I 83T 21 IR BT AT ST DI Stor o ot e = 3
& cfeam &- ot F 7] BT PoT T = 1 g 42 Pl +3 A = 6
PR Ut B T, n = 4.2 #iex o ® 1 g argesAr Feen W ot FEIfd aRom = 6
e e e 1 e, (i)ig AHE B I TS P TgRel IR = 1

n =42+1.4=56 e wthe B Y TR

Tl & JgHd giRum 1

P = ol FEg R 6

‘ (ii)g Prefl B9 BT T & TgHe IRUH = 2
g et @ I HTRiepr

P _ e P aggA aRom 9 g

ol weg gRum 6 3

3ct: i et & 6 wifEr (P) = 4

e A Pleit T 89 I WRidhdl= 1 — I Pleit B hl FTRiepdr



Science

Q.26 :

(iii ) et B Y T & gl aRum = 3
g el @9 & UTRiedr
P _ T dIgRAIRum 3 1
- gpadmaufem 0 6 2
HAT-q
o1 YRaep Feftaor g serdi At gRT 7T HfTg-

20+ y=6, 2r—y=2
N: ST FEIAT | T 62+ Ty = p H p B T4 o0d

EAIEN

Bl :
feam &, s Tt g,
2z+y =6 (1)
2r—y =2 (2)
FHIDRT (1) & I g AR UTH &R R = 0 R
2X04+y =6
O+y =6
ar y =6
ANz =1 W, 2X14+y =6
= 24y =6
q1 y=6—2 =414
9 TR FHIROT (1) i =g ARoft 77 gepR o geft-
T 0 1
Y 6 4

3T FHIPRT (2) b AT fo=g RO e B 2
iR (2) # z=0 W@ R,

2x0—y =4
a1 0—y =4
a1 y =—2
JA y=0 W@ W 22—0 =2
27 =2
a v=3=1
aict: Gl (2) Y firg Aol fr SR o et 2-
x 0 1
y —p 4
SRIT FHRU (1) Ta (2) A 9 =g ARMORIT &l AR A
T UIR TR YNGR Pl 0001 B B

SHI @R g M(2,2) W Uicreesg @Rl g1 31 FHIeRor
e @ e g c=239 y=2 ¢l
=27 y=2 & QA T TY 6247y =p 7 T R

6xX24+7X2=p
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Q.27 : Ryg HIfdu-

(i) / % = cosecf + cot 0

(i) tan 6 cot 6

17c0t0+17tan0 = 1+ tanf + cot

gl :

. _ /14 cosf
(i) LHS. = /T cos®
3T T WP 1+ cosh A oM IRA R,

/(14 cosb)(1+ cosb)
L.H.S. = \/(1 —c0s0) (1 + cos0)

(1 + cosf)?
1 — cos®0

2
= w [ sin’0 = 1 — cos’0)
sin“6
. 1+cosf\ _ 1-+cosf
n ( sin 0 > ~ sind
1 cosf

~ sinf " sind
= cosecl + cot§ = R.H.S.

L.H.S. = R.H.S. (3fifieH)

.. _ tané cot f
(if) LHS. = T—cot0 " 1—tand

_ (&) n (o
=50 (d—29)

_ ( N (nf)
(sinb’fcosé’) (cost‘)fsing)

sinf cosf

sinf X sin @
cosf X (sinf — cos0)

cosf) X cosd
sinf X (cos@ — sinf)

sin’6 -~ cos’f
cosf X (sinf —cosf) sinf X (sinf — cosb)

_ sinf X sin*0 — cos @ X cos’f
cos X sinf(sinf — cosh)

_ sin’0 — cos’0
cosf X sinf X (sinf — cod)
(sinf — cos ) X (sin® + cosd) +sil cof )
cosf X sinf X (sinf — cod )
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[ a®— b* = (a—b) (" + b* + ab)]

_ sin®f + cos’0 + sinfcos b
cosf X sinf

sin’6 cos?6 sinfcos 6
cosfsinf ' cosfsinf ' cosf - sinf

_ sin@ i cos 6
cosf ' siné
=1+tanf+cotd = R.H.S.

L.H.S. = R.H.S. (sffigH)

OR

+1 =tanf+cotd+1

Q27: (i) IR sinf+ cosh=p 3R sec + cosech = ¢ B Al
Rig PIfTT & ¢(p° - 1) = 2p.

(i) Rig PfTg- 1 EotsaﬁA +71 iiré(ﬁA =sinA 4 cos A
8l

(i) LH.S. =q(p’—1)

p @ ¢ B HF T R

L.H.S. = (sec + cosec) [(sin @ + cos§)* — 1]

L Ny )
_<cos<9 + sin0>[sm 0 + cos"0 + 2sinf) cost) — 1]

__/sin@ 4+ cos @ . _
7<7sin0c059 )[1+281n0c0s9 1]

X (2sinfcos0)

sin 6 4 cos @
[sin@ * cosf

2[sinf + cosf] = 2p = R.H.S.

.. _ _cosA sin A
(i) LHS. = 1—tanA 1—cotd

_ cos A sin A
71_sinA+1_cosA
sin A
_ cosd sin A
T cosA—sinAd + sinA—cos A
cos A sin A

_cosA cos A sin A sin A

-1 XcosA—sinA+ 1 ><SinA—cosA

N cos?A sin? A
" cosA—sinA ' sinA —cosA
sin’A B cos’A

sinA—cosA sinA—-cosA
sin’4 — cos’A

" (sin A —cos A)

_ (sinA —cos A) (sin A + cos A)

o (sin A — cos A)

=sinA+cos4 = R.H.S.

L.H.S. = R.H.S. (sfafreq)

Q2: (i) IRRT (2,3) R G,7) S5, @z &
H S IS
(i) =T HRY @1 324y = 9 =gl (1,3) 3R (2,7) @
A dTel WaRave ! 5 rgura o g et 2

gl
(i) fam g,

e ﬁl@, (z, 1) = (2,3)
e g, (20,40) = (5,7)

Science

o fvgal & @ & g,
d =V (m—o)+(@m—w’
5=y(-2+(7-3)

d=5
Sl gl @1 af FRA W,
25 = (5—1)*+ 16
= 25—-16 = (5 —2)°
(5—-12)> =9
(5-2)=+tv9 =+3
YHIHS fieg o W,
5—xz =3
T =5-3 =2
FOMTeHS g o |,
5—x =—3
z=5+3 =38
37d: T =2,8

(i) =M1 R A(1,3) TT B(2,7) Bl e drel Waravs
34+ y=9 @ \:1 F Raira a=ar g ord: e

fa=g & e

. /\:I/D(x, Y) .

A B
(1, 3) (2,7)

p = a2+ Me®

my+ my
_ My + Matn
aer Y= "+ ms
s A2 FLM) 2241
T+ 1 TA+1
_AM+13) _TA+3
PR, y = AX+1 T A+l
. R fRme — p(2A+1 TA+3
ot ﬁg_P(A+1’/\+1>

T8 fag @1 32+ y = 9 W T & 3R P! A P |
3rd: 7 W R

20+ 1\, TA+3 _
= 3 (S5T) R 70
6A+3 , TA+3 _
- il toarr 0
= 6A+3+7A 43 =9(A+1)
= 130 +6 = 9A+9
= 13A\=9\ =96
= AN =3
_3
A =1
a1, arfise ST = 3:4 B
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Q.29:

ABC & FHap st @ R £ B 98I0 1 45T AB
W D AT YN BC R fig B R 21 Rig Hifrg-
AE*+ CD* = AC*+ DE*.
&1 :A ABE 910 BryeT &
ZB =90°
AE? = AB’+ BE?
9 A DBC JFI0 BYs g 3R £ B = 90°
CD*? = BD*+ B(C?
FHiERU (1) T (2) B e R,
AE*4 CD* = (AB*+ BC? + (BE’+ BD?)

aerm
(1)

..(2)

..(3)

A

j90

B K

Xt YPR FTHDPI A ABC Td HHHUT A DBE H,
AC?* = AB*+ BC?

g DE?* = BE?+ BD?
FfieRur (3) 9 (4) Q,

AE?+ CD* = AC? + DE? sfafagq

..(4)

OR

: I Top THT TGS B QYo IR &, @ Rig HIvT [

AT oY SRIER Bl &R fapot off sR1eR 2
g1 :fea &
T agyst ABCD ¥, ABI DC R

g P -
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(i) AD= BC (i) AC= BD
IaRi- . AB Il DC 3R BC W fopfe ¥ g,

a1 2/ ABC+ 2 DCB = 180°
g ABCD & Th1 g 2,

3d: ZABC+ £ ADC = 180°
Fiftewor (1) iR (2) 9,

ZLABC+ £DCB =

..(1)

..(2)

ZLABC+ £ADC

ar ZDCB = £ ADC ..(3)
3 AADC 3R ABCD |,
ZADC = £DCB [@Hia=u (3) 9]
ZDAC = £2DBC (W& & gd @ug

¥ PIoT)

aik DC = DC (IHfres)
. AADC = ABCD(ASAR)

31q: AD = BC

SN AC = BD sfifdeq,
T IRIRAT g2 & A1ET 9 IgAD I HifoTI-

HTHIS 20-30 | 30-40 |40-50 |50-60 |60-70
Bl & =T | 4 28 42 20 6
Bl :

UTHI® Bl B WEIT | HEHE | [ x
(Tf-sia=Ter §) | (f) (z)

20-30 4 25 100

30-40 28 35 980

40-50 42 45 1890

50-60 20 55 1100

60-70 6 65 390

Df =100 Dfr =4460

qem, X = =T 4460 _ 4y 60 sig

~ Xf ~ 100
TgF e 31fep IRFARAT 42 T (40-50) 6 Rl

ara: 1 =40, i=42, f,=20, h=10, f, =28
B S Ny ()
@ MY =
_ 42 — 28
=40+ gy —as —20 < 1Y
_ 14 — 14
_ 140 _
— 40+ 35 =40+ 3.89
Igeih = 43.89
: 3rise 9getd = 43.89 3d
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